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Problem soly

g - addition and

subtraction @ ==
4
us
Not that

Luis hos much much more.
more than me!

Q) o Show thot Lus hos more wsing abor model.

b) Colculate how much more Luis has than Dony.

b)

3

I showed that Luis has more
S by making his bor wider.

J
— B Luis
1005

899 7

Danny

Asingle bar model can be useful when
You want to work out a whole or a part.

A comparison bar model is useful when
You need to compare amounts.

Danny 899 ?
x gy s r'0o 0 6

1,005 - 899 = 106. Luis has 106 more points than Danny.
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Think together

Q) Ametio s ploying a game with her brother Jack.
Amelia has 1.050 points and Jock has 678 points.
How many fewer points does Jack have?

0eo-0

sk hs [ fewer poits thom Amel

©) 1 b 75 points mors thn hr dod.erdthos
7 it How many pins does 100 howe?

This time I already
know the difference.
Iwonder what I have
to colculate here,

Choose whether to use o single bor model or a
comparison bar model to show each of these problems
Then work out the answer to each problem.

@) Lom thinking of G number. I subtract 100 from it
and get 5,250, What was my number?

b) T.om thinking of a number. Mox thinks of o
number 750 less than my number. His number is
5250, Whot was my number?

9 Iom thinking of a number. Then 1add 750 to it.
Now I have 5,250. What number did I think of to
stort with?

d) Iom thinking of two numbers. One number is
2,000 more than the other. What could the
numbers be?

1 think one of these has
more than one possible
solution.




